
5-Speed Transmisison stand
Use on all rubber mount 5-Speed
transmissions, Except 1993-present
FLT and all DYNA models.

4 & 5-Speed
Transmisison stand

Use on Big Twin 4 and 5-Speed
FXST 1986-Present.

Refer to H-D® Service Manual for specifications.
1. Clamp in vice, or bolt to bench by drilling hole through legs, front and rear.
2. Slip rear of transmission in between the two uprights, slip bolt #2034 through uprights and transmission, install washer #2031 and 

lubed nut #2035. Tighten nut until it is snug.
3. If the transmission your working on is an early model, (the ones that have a bolt on front mount) transmission will set on top of front plate, 

use a 3/8” bolt and nut to square transmission to stand.
4. If the transmission is a late model, (front mount is part of case) mount is held from the bottom of front plate by a 3/8-16 x 1” bolt. See Fig 1.
For 1008-TS
1. Secure tool as shown in Fig. 2 to bottom of transmission case. Use your transmission mounting nuts  and washers to mount tool as shown.
2. Turn case over and secure the L shaped bracket into vise. See Fig. 2

Rev B
6-13

No.1008-IS

IInnssttrruuccttiioonn SShheeeett FFoorr TTooooll ##11000088--55 && 11000088--TTSS

555 Dawson Drive, Camarillo, CA 93012   Phone 805-482-6913 • Fax 805-482-9224

No.1008-5

No.1008-TS

A Division of Thiessen Products

FIG 1 FIG 2For 1008-5

5-Speed Transmisison stand
Use on all rubber mount 5-Speed
transmissions, Except 1993-present
FLT and all DYNA models.

4 & 5-Speed
Transmisison stand

Use on Big Twin 4 and 5-Speed
FXST 1986-Present.

Refer to H-D® Service Manual for specifications.
1. Clamp in vice, or bolt to bench by drilling hole through legs, front and rear.
2. Slip rear of transmission in between the two uprights, slip bolt #2034 through uprights and transmission, install washer #2031 and 

lubed nut #2035. Tighten nut until it is snug.
3. If the transmission your working on is an early model, (the ones that have a bolt on front mount) transmission will set on top of front plate, 

use a 3/8” bolt and nut to square transmission to stand.
4. If the transmission is a late model, (front mount is part of case) mount is held from the bottom of front plate by a 3/8-16 x 1” bolt. See Fig 1.
For 1008-TS
1. Secure tool as shown in Fig. 2 to bottom of transmission case. Use your transmission mounting nuts  and washers to mount tool as shown.
2. Turn case over and secure the L shaped bracket into vise. See Fig. 2

Rev B
6-13

No.1008-IS

IInnssttrruuccttiioonn SShheeeett FFoorr TTooooll ##11000088--55 && 11000088--TTSS

555 Dawson Drive, Camarillo, CA 93012   Phone 805-482-6913 • Fax 805-482-9224

No.1008-5

No.1008-TS

A Division of Thiessen Products

FIG 1 FIG 2For 1008-5

     


